Rice										Fin 502


Due November 17								Fall 2003





Homework #F4





I. (B&M) Ch. 8, #5,7 (Recommended 6, 3 but getting 3(c) precisely is difficult)


         Ch. 7, #10,12  (Recommended 11)





II. Consider three firms each paying a dividend of $1 per share a year from today and then





	ABC dividends will grow by 6% per year in perpetuity


	DEF dividends will stay constant at $1 in perpetuity


GHI dividends will stay constant for the next five years (dates 2 thru 6) and then grow by 10% in perpetuity





All dividend streams are certain and known today.  The (risk-free) opportunity cost of capital is 12% and constant over time.  Capital markets are perfect and there are no taxes.





	Suppose an investor, Hermione, wished to maximize her wealth at time 2.  She plans to buy shares in one of the above firms with her entire wealth, W, reinvest all dividends when received in shares of the same firm, and sell all accumulated shares at time 2.  Assume fractional shares can be purchased (and sold), so that Hermione will have no money left over after purchase.





	Show that buying shares in any of the above three firms will result in the same total wealth for Hermione.  (Note: Do not appeal explicitly to the equal rate of return principle to do this.  You should first calculate the prices of each share.  If it is helpful to you, you may assume that W is a particular number --$100, for example.)








